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KEAXTVEE (pH) pHIE 7.8(7.8) 7.8(7.8) 8.3(8.2) 8.2(7.8) 8.7(8.3)
IR ZEER = (BOD) |mg/Q 0.55k 3 (0.55k ) | 0.5k (0.55k %) | 0.5k (0.55k ) | 0.55k % (0.55k5#) [ 0.55k # (0.5 )
FHEME = (SS) mg/2 1K i (2) 2(3) 1(1) 1R5E (1K) 3(1)
AEHF=(DO) mg/2 8.4(8.7) 8.6(8.9) 9.9(9.9) 8.8(9.0) 8.6(9.4)

= 11,000 7,900 17,000 7,900 33,000
RSB MPN/100m&l 5 500) (4,900) (11,000) (4,900) (4,900)
KFEAAVEE (pH) pHIE 7.3(7.6) 7.2(7.6) 7.6(7.9) 7.3(7.8) 7.5(7.9)
EYEEHERFRER = (BOD) [mg/Q 0.55k % (0.55k %) | 0.55k % (0.55k %) | 0.55k i (0.55k %) | 0.5k i (0.5 ) | 0.5k i (0.55K )
FHEME = (SS) mg/Q 2(1K5%) 1 (1K) 1 (1K#) 1K (1) 1K (2)
AfEHF=(DO) mg/Q 12.1(12.3) 12.8(13.2) 11.3(11.3) 12.1(13.0) 12.0(12.0)

= 4,900 1,100 4,900 1,100 490
RBERS MPN/T00mE] — (930) (330) (1,300) (1,700) (1,700)
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